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MATH 102-T082 (FIRST EXAM)

1.

Using four rectangles and right end poiznts, the estimated

area under the graph of f(z) = 1+ L from z = —2 to

T =61s

(a) 36
(b) 40
(c) 18
(@) 24

(e) 34

cos?t

— dt =
1-+sint

(a) t+cost+c

(b) 14cost+c
1,

(c) Et —cost+c

(d) t—sint+c

1
(e) t—isinzt-{-c
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3.

[@—Vz) de =

1
(a) 49:—;\/5-%53:24—0

o E=vEl .

1
(¢} 4+ —2—:1:2 +c

(d) 4z — 223 + %mz +c

(e) 4z —62>% 4224 ¢

(b) 3ln2

(¢) ~In2

(d) zIn2

(e} 3ln4
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5. If F(z) = /f’ f(t) dt and f(t) = ff Y 1:”2 du, then

F(1) =

® . dy
6. Ify= fﬁ\/fsmt dt, then I
1
7 ai 3y _ :
(a) 3Vz7sin(z”) X sin/z

(b) Vzisinz® — Yz sin/z

(¢) Vzsinzg® - %Sin\/a_c

(d) Va3sin/z — r’sina®

(e) z®sin+/z — /rsinz®
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7. Using the definition of the Area and definite integral, the

L i 2
value of the limit lim >~ e**» .2 is  [Hint: Express the
n

i=1
limit as a definite integral.

2

(a) 3le"—e]

(b) e*

2 q/4
(©) e
(d) does not exist

(e) e34+e*

0<z<1

x
8 If = finite i
f(z) { T~ (1) l<z<2’ and definite ingeral

is interpreted as an area, then the value of the integral

/02 f(x)dzx is

(a) (2+m)/4
(b) (1+m)/4
(c) (3+m)/4
(d) (4+m)/4

(e) (5+m)/4
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0. [ (z—2lz)de =

@ -
®) -
© -3
@ -
@ -

10. ]6(2:r5+ln:c4) dx =

1
(a) Eezzﬁ +c

(b) e(lnm4+2:r5)+c

1,
(C) ‘5”‘"53’3 +c

(d) e(:1:“+2.T:5)_'_{:

(e) ]':))_Oe(m4+2a:5)_|_c
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11.

12.

f (sec® z) tan(tan ) dz =

(a) In|sec(tanz)| + c
(b) In|tan(tanz)| + ¢
() —sec{tanz) +c

(d) In|sin(tanz)|+ ¢

(e) In(sec’z)+c

1 T
Iff0 f(z)dz = 7, then /0 /e f(sin 2z) cos 2z dx is

——
oo
o[

|

(d) 2n
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222 - 22— 3

7
(a) 3

() —5

14. The volume of the solid obtained by rotating the region
bounded by the curves y = z? and y? = z about the z-axis
is equal to
(a) 3x/10
(b) 37x/10
(¢) m/10
(d) =/6

(e) 57/6
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15.

16.

The base of a solid is the region s bounded by the curves
Yy =+T,y=0,z=1and z = 2. If the cross-sections of the
solid perpendicular to the z-axis are squares with one side
lying along the base, then the volume of the solid is

o o

(a)
(b) 2

(e) 1

(R

(d)

(€ 5vi-1)

The area enclosed by the line z + 2y = 1 and the parabola
y? = 4 — z is given by the definite integral

(a) [ 31(3 +2y —y)dy
® [ [50-2-viz]a
© [ &2y -3)dy
@ [ [-;-(1 o) - m] da

() [,(3-2y+1)dy
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17.

18.

The volume of the solid obtained by rotating the region
bounded by the curves y = %, y=0,z=1and z = 3 about
the liney =1 1is

(a) 2r (1n3 - %)

(b) = (ln 3+ %)
(c) 2« (ln3 — g)
@ 7

(e) = (2ln3 — %)

The area of the region in the right half of the plane bounded
by the curves y =2z — 1, y = 22, and Yy = —x is equal to

(@) [ +2)do+ / i3(a:2 ~ 22+ 1)de
) [(@®~z+1)ds
© ["@-a)do+ / ia(:cz +22 — 1)dz
@ [(@P+z-1)d

(e) '[)1/3(1: — z¥)dz + f1i3(w2 — 2z — 1)dx
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19.

20.

If we use the definition of In z as a definite integral, then an
approximation of In2 using two rectangles and the sample
points to be midpoints is equal to

@ =
()
© =
@ 1
© =

n

The limit lim 3" - - can be interpreted as the

n—+o00 im1 +n

1
(2) area under the graph of the function y = — on [2,4]
T

(b) area under the graph of the function y = 1 on [0, 3]
T

(c) area under the graph of the function y = Inz on (2, 4]

(d) area under the graph of the function y = Inz on [1, 3]

(e) area under the graph of the function y = z on [2,4]
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Answer Counts
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Answers
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C
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